E 64
28 (A) 38 () 48 (K) 5H (K) 6H (&)
BRI B B4 —AHY | |#izs BR4 —AEY | sz Ba4 —ANEY | [#z Ba% —ANHY | @z Ba% —AHY
RS E ERSE ERSE ERDE ERDE
N ET ) 0 [ [BEaxE®) 68| |3 |aysy 50| & [BEAXER) 60| [ |BEX(EE-B) 70
B lay=isy 30| (& [mExk@E® 75| |Y |awsssy 50| |Y  [sksmibx 05| |IF  |mExEE-A) 80
~ ~ #agib K 0.5 ~ o B L EAEL (T X o) (BNIRE) 20 ~
v — X L S o) ENR
~ &3 206| |4 > 43, 206 CUES REAE - CIHARINED) 8| |4 43| 206
A z,  (4EH 206 + Az 7] |z
v |RIFTL0N—D) 35 4 |gEy1oF—om) 35| (3L [miglT 5 BRI F 25
W TiE 15| | |BEIEIVF 15 |5 |REOEEH 30 BLEHE ke 5| |17 |8 uER 10
o ysam 12 [wEsromie a5 |_ [z 1] (9 [g555 os| [V [#&E 1
A [EmsF 15 (3_;; ROEER 40 Z By 30 [é S5YLELESR 25| 17 [gozzz 40
s | ERESHE 15 | [rocikEvemay 20| [ AyF—= 100 | B 1.5 ,7( Ty 15
4+ |KUEER 0| |la |AB 12| |w | miEse@x20m) 25| |x | LE%E 1z [AZ 7
n | 15| |2 [ TERT 1ke 5| |4 |B5BLIZAIZK 05| |18 |BiE 0.5 - CAVDP) 7
R |AB 0] ¥ [B5LIZAIK 05| |1 [H5% i 1 (®  |HLE®R 05| (3 |E)ILYRET 3
N ==y 5| |8 [BaLEs 0.5 (%) FhkE 3ke 15| |® ¥ [B3aLIZAI 0.5
;r BALIZAIZKL 0.3 I CFEim 0.8 ;;’ () PR FryT ke 3 2 43 206 ;9_ RA—FNATIL Btg 0.04
| () FIPKE 3ke LEI RPN o IR 13 |5 [@rerios— 200 03| |p * Y54 1
[ i 1 | [FEravvd 05| |p |[LEI%E 05 YIFLKIR 4 | [#YA 3
7 |@®rerrFesd ke 3 o [L&3W 3| [ | FBAESHE 1 £ (B) 2H B 03] |& L&51 25
oD RE—Y—R 1| 12 |FEH% 25| |7 [2RE—Y—R 03| | [EwdY 25| |7 |[FAREZ—VY—R 1
A | 03 |¥ [=ZikE 01| |¥  [FELarys 04 [t |umd—na—y ik | |T [EE 1
A W) 0os| |F [mm || [eE 02 ELEFLYL Y 5| || [Eom 09
; FERraAYA 05 'j ThAA 1 % SL&d 0.02 WYBTFE 500g 1 2 BiE 04
1 |pL—# 035 [, |k 20| X & 30 | [ELs> 0.02
> Y B)F LA 25| |77 | TARA 1
Hh[EeRy 20| (&7 A 17] |7 [y 20 hisf 7 3 0.7
5 [Ep3Y 25| (B |KtBL 25| || [203Y 25 >EC Az 10
7 AS 5| | % AS 5 :E (LR R—La— ke 5 FLLL= I (XS5AR) 0.5 UL R AL GG B 7
_); (LK) R—La—> ke 7 (LR)R—ILa—> ke 8 -If (LM ESAHHE 1.5 fhE 5 (LR) 5T 1ke 25
5 |HSFH 1 L&SK 2 X7 100gH 1 BHZ 6 BUEER 15
A | Rt s 1.2 B 2 BEF 1.5 Ha% 2 FUrHA 10
B 15 Ba=1;] 1 N=];] 05 p] 1 Ti— 5
T |BE 0.2 CFim 05 Y55 M 1 HIYET ~LH 3 Y545 0.5
| [zLss 0.03 HYBETE 500g 1 &5 03 HLEM 05 (%) HBA—T Ske 4
)71, B 0.5 ) 0.02 7K 110 L&51 0.5
+ FELasYA 0.3
L (B)F—T AL S ahwk) 50 (E) MNaAYT—EUF 8 ZFil 0.1
v BiE 05
P cL&S 0.03
B 110




E 64
98 (A) 108 () 118 (K) 126 (K) 138 (&)

kL% BR4 —AZY | |#uz BR% —A&Y | |mza BRt —A&Y | |#iz BR4% —A%Y | |#zs BR4% —A%yY
EESE ERAE EREAE EFHEAE FHAE
3 |[ayiRy 50| & [BEX(EHR-A) 70l | [ExkE®) 68| |7 [BEX(EH-A) 700 |3 |3yRsy 50
I ECL so| I [mEk(EE-&) so| & ek (B 75| Y EEX(ER-A) 8| |7 [avi 50

~N ~ A I | ~

% _ iRtk 0.5 5 <
o |&EL 206| 4 |5 206/ | 4 |&R 208 |, |43 206

3 > %3 206| (=

4 |BAEITF 20 B EbLDHEEITS /N 50| |1+ BRAAE (3 X 3mASAR) 20| |4 |[(LhEXE BE 10
L | BsESE 1| 1T |[wabooszEs B 60| (D |mm gL @xzm 15| |4 |ROEER 40| |2 |[@aEvarazc—zr 8
B EVAFAT ke 10| [ I 10| |BL [mozcesusem 45 ~—ay (gt 7
?j (Lh#EAT EE 10 |5 [Cass 1| |, [#E | |y [22 15 g BPA (2 < 2on 254 2) 15
5 |ELEFE 55| |z [EHEIF 1 |z [BBEEEG130) 17| |z [UREERT ke 5 [« [BARESHE 2
v [EGECesLL(20m) 5| |z [AZ 7 BROEER 30| [5 [GDLLXF 5[ [,y |BEECe LG (20m) 40
h (A 10| |3 [GIFLXIR 1|1 |AB 10| [ [ hhKkE 3ke 5| |A |[ELEFEE 30
I [ rohkE ke 1] [+ (@ asEm 05| |5 [emzenatza soos 11 |5 [B3aLIzAIz< os| | [AZ 10
¥ |BBLizAI 1| (% [Fiorr@esez) 05| [* |[Fuvrr@zs(z) 1| % |[y55m 1] |~ |zuzaxexo sm 15
w Y55 1| | [smewiars soos 7 % HSH 1 INEH 55 g B—yT 0.1
F |ererrred i 3 |y [P 15 [LedW 3.2 Y55 45| | [BSFH 05
4 |@rersos— 200 035| |y [L&5W 25| | |=EH 1.9 AL—# 1|3 [BE 0.3
S5 (W 12 (1 [PXE 1| |5 |&& 0.3 () HH>R—T 3ke 3l |2 [SL&S 0.03
g |HRE—Y—R 12l |L [#Y4A 05| | |3 60 HRE—Y—R 3l |1 [FEravys 05
FEravyA 05| | X [&& 1] (@ FASESHE 2 Y545 1
T Bi5 0.3 ﬁ CEFH 0.3 A+ =Y 25 (I FryT ke 2 ?; INF— 1
2 |[FUSos— otf |3 |k 20| [0 [KbdL 20 EADDY—R 1] [ [hEBH 2
& 30| [¢ % |AZ 5 L&S50 1 |z [(BAEA%E 100 20
»  [EeSY 25| & |L&SW 15 Fy YR 450g 1| [+ B3 50

Ew3Y 25| & | ABPL 20| (& |RUEE 0.7 BiE 08| [5
FrAY 20 AB 5 =t 0.5 ) 004| |¥ [SELD ke 3
(LM ESCHHE 7 ”2 FRLZ#H 0.4 WUBRIZE 500g 1 Fxavy A 0.7 NATA LB ES20m) 15
YACEE 2 ’3) L&50 i 3 90 Ep>Y 25
BEE 1% (B) Bk DY (580 25 AS 5
N =pi ] 04| |z FrAY 20 (LR h—JLa—> ke 7
AU—TH 0.3 FpdY 25 B4=L] 1
BiE 0.2 A5 5 L&SW 1.5
ZL&S 0.02 (82) iBEIV IR 0.5 BEE 15
(LR)R—La—> kg 7 | 0.2
(8 %vo 7 F—X 5¢ Bl 10 HLERLYL LS 45 BRI FE 500g 1




E 64
16H(H) 178 () 188 (JK) 19H (K) 20H (&)
BRI B B4 —AHY | |#izs BR4 —AEY | sz Ba4 —ANEY | [#z Ba% —ANHY | @z Ba% —AHY
RS E ERSE ERSE ERDE ERDE
S |BAX(EE-H) 0| (S |HEEXEE-A) 70| (A |avRsy 50| = |EBEX(FEHE-H) 0] |2 [HBEXER) 60
% BEX(FE-H) 80 % BIERX(EE-A) 80 /i =AY 50 % B ERX(EE-A) 80 ;) #iaibxk 0.5
o (A)1=C(2%x 1. 5cm) 15
4 |FE 206| |4 |42 206 'J\ 2 206| |4 “°|4EL 06| | [BaLEE 03
E) ) ) & @B 5
B)TS —OhoMTEHEE 35 FRATE (3 X 3emATA R) 40| (4  |ewsross musan smmr 40 FRIVF 10 |3l |ceseens cuammen 10
N (ARt Aai 5/ |8 |BALAEE os5| |3 |B&i& 01| | |[BAEMILF 15 AS 7
b [ppx 3 |1 [B2LIZAI 05 EE 1| |* [&E 1| [¢ [o=ta ke 5
5 |mE 3 |7 |am 1|12 [chsn 8| |7 [mestesitiom 0] |2 BIeLse 24
= [LsI@ 22| |n  |FEYRY 40| |5 [KH 3 |3 |KLEER 40| [ [EE 24
£ LB 22 [ |HTEER 30| | |EizAeid 5 [0 |oEzalzeco—2) 2| ¢ |EB#E 0.3
W | AYA 08 E—<y 10| o [r=r 5 |2 |[Az 15 o |&E 0.8
—k 0o1| |7 |AB 10 |7 |ELEER 3 |F  [(HTEBT ke 5| | |HLEA 0.5
[ ul | [CEm 1| [E |[E—=v 15| |2 |4S548 1] |~
; f FHE 3.2 :J BfE 3l (B [Lesw 3.7 g 43 206
& |ORESE G ke 15 | (LB 12/ | [BiE 0] |\ |3 1.7
B |RESAlenN—D) 10| [ [EE 2[ [, | LB 2| |4 [EBE 115 |TAss 17
S |TARD 15| |5 |[L&S 2| |1 [SLsS 001] |1 [Tasa 05| |5 |[hacswse3am 23
3§ CIFES (ZEhE) 20| |% FEavYA 01| [R BHAESHE 2| |A & 8| | AS 7
¥ Az 5 FRE 001f | =~ |L&ESW 01| (P i T T 0.5
D [@oEsE ke 5 ThSh 05 g AU—J 0.1 7{ T 20| T [wyEcE s500¢ 0.7
7 |emors 2 K 5| |7 [cash ois| |2 [Az 20 CEh 0.7
x |HIFH 1 v & 3 1z |Ew3Y 10 L&sK 2.5
LS50 238 INVAER 15) |4 (LM FESCHME 7 o T 1.2
N =B 1 AHHL 23] |17 [EreY 20 HLERLYL LY 45 HYA 0.4
n | EE 1 AB 5/ |5 |03y 23 HE 1
FARYA 0.5 (LR F—La— 1ke 7 (LR R—La— ke 7 =Lt 10
gg X 10 N=F 1 7‘%‘? BEE 1.5
o L& 2| |4 HESHH 1 SEARE 20
- DRE 17 B 15| | |&iE 0.3 BB 7
L [AEHL 30 Y545 05| [ [SL&S 0.02 Lol 10
TEMDH (B H) 500g 1 T7—EVEZIH) 1| 1R kB 0.8 FhE 5
LeSK 12 F—EUF () 12 |! hHZ 65
7 (&) AT (Fe-Calit) 35 BH&Z 2
RUEEHR 20 BIVET LA 3
A5 8 HLEMR 1
FLLW=H(RSAR) 0.5 Bl 1
BEALEE 05 & 115
Y355 05
(B HBR—F 3ke 3
L&KW 0.6
Bl 1
BiE 05
cL&> 0.03
FEaALYA 0.4
o—yT 0.1
b 90




E 6R
23H(A) 248 () 258 (k) 26H (K) 278 (&)
% BRE —AZY | |#g BRf —A&Y | |#za BR4 — A%y | |#us BRE —AZY | |#us BRE — Ay
EXDE ERDE ERDE ERDE EDE
BEX(EHE-B) 0| & (2@ 50| = [HEX(EHE-A) 0| | [HEEXER 68| [= [HEX(BR) 68
1)1*5 BEk(B5E-A) go| [ [z 15| |1F [mEkEE-A) so| [ [mExE#) 5] & [mEkER 75
& 5 "“ Ao Bk os| &
= 206 42 206| |4 |4EL 206/ |4 4 |HFE 206
A 4 ) 7 |4 206| |z,
Y [BHi2x2mR5(R) 17] |3l [measex2mz542) 10 A ANATARAE 40 BRRAE (2 X 20nR5( R) 20
~ |[EA& 1 L |EE 15| (7= |Aif=1aid 8| |8 RIS F 15| [C |&E 2
Sl L 25 :ll vy 5| 5 |[ELEEZ 3] [T [comesmomn ke 65| |® [rR—arCEm 7
% BUEER a0 |, |EBBL 15 ; BEE 38 ‘E) BEOEER 40 f’: BEOEL oA (2em) 70
< |AZ 10| | [E=vGwh) 15 | |L&SW 25| | = [AZ 10f ¢ |KLEEZR 35
hhaF 5 | |U3FH 1 [/ LB 3| | |FLLLEH(R54R) 08| ¢ [AB 10
bt v 8| |~ |BHE 1| A [=8& 001 (& [FRE 5/ |7 |zurx2xo0. 3m 10
oo|Ledw 4l |7 [LeSw 1 & [ 4 |2 |BBRLAEE 03| |R  [ZRISSHZR 15
#HYA 2| v [cEm 05| |~ T [B2aLIzAI 02| |1V [o54m 05
A T 1| [Freasus 03 @ KiR 25 ‘g CEil 1 07) o W 1.7
g« BiE 06| 4, |BiE 02 Ew3Y 25| | = |FEHE 5l |5 [L&SW 3.2
o |[TARA 05) | [SL&D 003| |x [whk—nra—y 1k 11" | EE 3 |l 1B 10
N |HIYED LA 2| |6 |tEhosEE)500¢ 05 4B |[pAZEORLYL LY 45| |3 |L&SR 2| |&
5|5 50( |® ) *x |=EE 1.2 AybESEAIL 50
» A Aoy (Ef) 4| 1B |ommraceecamn 25 [P |TASRA 05| | |wciE 0.5
f CR)MABEHE ThSAHE RE 25 ; BOEEH 20 Y BRUEER 15 15 — 0.01 T
_ |ttt 5 FLbh (k) o8 (B iz 1| 5 = 20| |&  [@svozrToy i5
) 2
* : AS 10 AS 5 |z 4
B |MAE 17] | | b 1 |g |htF 3 EpS5Y 25| |2
Hh |AB 5/ [V |L&SW 07| | [BFLELLIWD 1.7 X1R 20| =
A |ABBL 25 |7 @ po2—T 3ke 3| |t B 1 A 5 |L
(Lht—a—> 1ke 7| ! FE a4 0.3 HYA 05 WYBIE 500g 1|2
B 2 [T [&& 03 BIYE FELF 3 tayif 3 3
L& 2| |l |EL&D 0.03 HUET 1 L&KW 01 |4
N=F; 1|y [SFH 0.1 K 105 2
CFEil 05| | I WYBITE 500g 1 +
Blgycx 1 5 120 Y
b
(B) =7 —%—Hy— 50




308 (R)
L Bmdb —AHY
EFHRH=
S EEYEL) 68
N = F A=L:9) 75
A
& 43 206
2
BRI (2 X 20mR54R) 30
A |EA 1
- | RUEEHR 30
A [xtoL 25
gj BEXLF ke 15
y [POTFLKR 5
(==} 3
L B35 1
X [L&SW 2
gﬁ) =t 0.7
x ;i,ﬂa — 0.5
L\ D 2
F XK 2
(A
- |[E®3Y 40
» |AB 5
(B2) R A BF 0.1
E  [emon@a) 5008 1
W =
5 LS50 2.2
y BB 1.3
)
T
=
2
I




